
� 正負の足し算引き算 16-1 �

正負の足し算引き算 16-1

次の計算をしなさい。

(1) (−7) + (+12) = (2) (−11) + (+5) =

(3) (−14) + (+6) = (4) (−12) + (+8) =

(5) (−7) + (+15) = (6) (−11) + (+2) =

(7) (−6.4) + (+3.4) = (8) (−5.7) + (+2.5) =

(9) (−90) + (+46) = (10) (−14) + (+107) =

(11) (−454) + (+870) = (12) (−478) + (+663) =

(13) (−593) + (+301) = (14) (−0.92) + (+0.87) =

(15) (−0.4) + (+0.75) = (16) (−0.45) + (+0.15) =
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� 正負の足し算引き算 16-1 �

正負の足し算引き算 16-1

次の計算をしなさい。

(1) (−7) + (+12) = 5 (2) (−11) + (+5) = −6

(3) (−14) + (+6) = −8 (4) (−12) + (+8) = −4

(5) (−7) + (+15) = 8 (6) (−11) + (+2) = −9

(7) (−6.4) + (+3.4) = −3 (8) (−5.7) + (+2.5) = −3.2

(9) (−90) + (+46) = −44 (10) (−14) + (+107) = 93

(11) (−454) + (+870) = 416 (12) (−478) + (+663) = 185

(13) (−593) + (+301) = −292 (14) (−0.92) + (+0.87) = −0.05

(15) (−0.4) + (+0.75) = 0.35 (16) (−0.45) + (+0.15) = −0.3
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正負の足し算引き算 16-2

次の計算をしなさい。

(1) (−4) + (+3) = (2) (−6) + (+8) =

(3) (−15) + (+8) = (4) (−4) + (+13) =

(5) (−9) + (+10) = (6) (−4) + (+2) =

(7) (−5.8) + (+1.1) = (8) (−7.8) + (+17) =

(9) (−26) + (+9) = (10) (−45) + (+54) =

(11) (−33) + (+964) = (12) (−747) + (+1077) =

(13) (−470) + (+722) = (14) (−0.4) + (+0.44) =

(15) (−1.15) + (+0.32) = (16) (−0.16) + (+0.89) =
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正負の足し算引き算 16-2

次の計算をしなさい。

(1) (−4) + (+3) = −1 (2) (−6) + (+8) = 2

(3) (−15) + (+8) = −7 (4) (−4) + (+13) = 9

(5) (−9) + (+10) = 1 (6) (−4) + (+2) = −2

(7) (−5.8) + (+1.1) = −4.7 (8) (−7.8) + (+17) = 9.2

(9) (−26) + (+9) = −17 (10) (−45) + (+54) = 9

(11) (−33) + (+964) = 931 (12) (−747) + (+1077) = 330

(13) (−470) + (+722) = 252 (14) (−0.4) + (+0.44) = 0.04

(15) (−1.15) + (+0.32) = −0.83 (16) (−0.16) + (+0.89) = 0.73
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正負の足し算引き算 16-3

次の計算をしなさい。

(1) (−8) + (+14) = (2) (−11) + (+8) =

(3) (−12) + (+8) = (4) (−4) + (+3) =

(5) (−4) + (+2) = (6) (−1) + (+4) =

(7) (−7.2) + (+8.6) = (8) (−8.5) + (+0.2) =

(9) (−64) + (+70) = (10) (−93) + (+114) =

(11) (−191) + (+624) = (12) (−374) + (+382) =

(13) (−1165) + (+494) = (14) (−1.43) + (+0.82) =

(15) (−0.48) + (+0.9) = (16) (−0.65) + (+0.96) =
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� 正負の足し算引き算 16-3 �

正負の足し算引き算 16-3

次の計算をしなさい。

(1) (−8) + (+14) = 6 (2) (−11) + (+8) = −3

(3) (−12) + (+8) = −4 (4) (−4) + (+3) = −1

(5) (−4) + (+2) = −2 (6) (−1) + (+4) = 3

(7) (−7.2) + (+8.6) = 1.4 (8) (−8.5) + (+0.2) = −8.3

(9) (−64) + (+70) = 6 (10) (−93) + (+114) = 21

(11) (−191) + (+624) = 433 (12) (−374) + (+382) = 8

(13) (−1165) + (+494) = −671 (14) (−1.43) + (+0.82) = −0.61

(15) (−0.48) + (+0.9) = 0.42 (16) (−0.65) + (+0.96) = 0.31
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正負の足し算引き算 16-4

次の計算をしなさい。

(1) (−3) + (+12) = (2) (−3) + (+8) =

(3) (−5) + (+13) = (4) (−3) + (+4) =

(5) (−7) + (+11) = (6) (−10) + (+2) =

(7) (−19) + (+9.7) = (8) (−9.6) + (+19.3) =

(9) (−86) + (+10) = (10) (−104) + (+42) =

(11) (−522) + (+434) = (12) (−1420) + (+692) =

(13) (−1387) + (+836) = (14) (−0.14) + (+0.08) =

(15) (−0.1) + (+0.73) = (16) (−1.06) + (+0.66) =
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正負の足し算引き算 16-4

次の計算をしなさい。

(1) (−3) + (+12) = 9 (2) (−3) + (+8) = 5

(3) (−5) + (+13) = 8 (4) (−3) + (+4) = 1

(5) (−7) + (+11) = 4 (6) (−10) + (+2) = −8

(7) (−19) + (+9.7) = −9.3 (8) (−9.6) + (+19.3) = 9.7

(9) (−86) + (+10) = −76 (10) (−104) + (+42) = −62

(11) (−522) + (+434) = −88 (12) (−1420) + (+692) = −728

(13) (−1387) + (+836) = −551 (14) (−0.14) + (+0.08) = −0.06

(15) (−0.1) + (+0.73) = 0.63 (16) (−1.06) + (+0.66) = −0.4
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正負の足し算引き算 16-5

次の計算をしなさい。

(1) (−4) + (+6) = (2) (−5) + (+9) =

(3) (−3) + (+10) = (4) (−7) + (+6) =

(5) (−15) + (+7) = (6) (−7) + (+12) =

(7) (−4.4) + (+1.1) = (8) (−8.5) + (+13.5) =

(9) (−97) + (+115) = (10) (−22) + (+37) =

(11) (−38) + (+115) = (12) (−839) + (+809) =

(13) (−37) + (+861) = (14) (−0.29) + (+0.62) =

(15) (−1.25) + (+0.97) = (16) (−0.66) + (+0.46) =
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正負の足し算引き算 16-5

次の計算をしなさい。

(1) (−4) + (+6) = 2 (2) (−5) + (+9) = 4

(3) (−3) + (+10) = 7 (4) (−7) + (+6) = −1

(5) (−15) + (+7) = −8 (6) (−7) + (+12) = 5

(7) (−4.4) + (+1.1) = −3.3 (8) (−8.5) + (+13.5) = 5

(9) (−97) + (+115) = 18 (10) (−22) + (+37) = 15

(11) (−38) + (+115) = 77 (12) (−839) + (+809) = −30

(13) (−37) + (+861) = 824 (14) (−0.29) + (+0.62) = 0.33

(15) (−1.25) + (+0.97) = −0.28 (16) (−0.66) + (+0.46) = −0.2
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